STO072ERS

Hinge hook type

Bending Radius Unit

Layout of the Chain Chain Cross Section

lmﬁ

el

R Loop Length Loof Projection Moving Height
R Chain A B C Frame D Weight
120 917 420 Type  |Width(Outer)|Height(Outer) Width(inner) |Height(nnen)|  kg/m

e

145 1,063 470
200 1,400 580 180 104 50 2.53
250 1,840 752 129 75 2.65
300 2,280 924 STO72ERS 154 69 100 44 277
179 125 2.89
. . 204 150 3.01
Dividers(DV)

Separators(SP)

Assemble divider every second frame
DV/M : Normal Divider
DV/W : Applicable to System Tie Wrap or FEB

@ sb-DV045/S @ sb-DV045/M

Chain Type Ordering NO.

STO72ERS sb-SP/400.Frame

© sb-DV045/W

1 20 # Dimensions in mm



Free End Bracket(FEB)

8-26.2(M6 Bolt Holes) 8-26.2(M6 Bolt Holes)

Fixing End

Steel End Bracket(SEB)

Moving End

Fixing End

26.6(M6 BOLT HOLS)

©6.6(M6 BOLT HOLS)

69
52

104
129
164
179
204

STO72ERS

System Tie Wrap(STW)

C+32

69

i 23 s 123 7
: A B C

dth(Inner)
50

75
100
125
150

It is a unit to classify each cable for
preventing entanglement of cables.

It can either be installed to free end
bracket or installed separately according
its application environment.

C+16
C
4-96.2(M6 Bolt Holes)
-
o]
1l0000000000000000000000
FHEEE

1

o

Chain Type Ordering NO.

S-TW.EB045.50
S-TW.EB045.75
S-TW.EB045.100
S-TW.EB045.125
S-TW.EB045.150

Guide Channel

STO72ERS

75
100
125
160

M6 Bolt Holes

v} A
T =S = = r C+12
H c = EALBI T =
o e H ol | o a9 (Il i SR
<l i SO 5 S T ol Gy e I B 9999
g 0 QB I8 I
el ) el - sactld | o Jreees Front View
8 [ [ Py 5 g g g ]
e = 4-996.2(M6 Bolt Holes) ﬂjjj;@ﬂE H
19 18 18 19 233423
107

44

Tie Wrap(TW)

72 142
D 3
10

35 M6
60 Bolt Hol
85 olt Holes
110

50

=7 :

M 45 L1 R
375 ||

Ll [375

‘ 27

Chain Type Ordering NO.
ame Hole Type STO72ERS
50

Housing (U-Shape)

S-TW50 58 65
S-TW75 75 82
S-TW100 98 105
S-TW125 122 129
S-TW150 141 148

A(C+54) A+6 50 70
c | ‘ A ‘ 2525 = __fo_50_40__
— 20, < &g, 9
H § '°\+,7 <@ e H—t
- - o ~
g I il g8 88 88
T i | + 4
7 LEEL rase < 2 2 o
Ar106 artod) A196/2 HOUSINGA HOUSINGA1 & HOUSINGBY
- Assembled at the beginning & end part of guide channel
Side Panel
2000
s 100 100 100 100 100 100 100 100 10050 50 100 100 100 100 100 100 100 10 002525
e, | 1] | \ \ \ | | | LT | | | \ \ | | \ [
IEREN - -
I =Y w= w x w e w wlw w \w % W w e w W R
LI LEE] _ B # |
ING HOLE B \_N_LLDN BAR N HoUSING HOLE A HOUSING HQLE_&V s
800 800 400 -

# Dimensions in mm

Shift Chaines 121

SY3Z£0LS + 9dAL ppIS 43]|0Y Pasopu « ureyd Jys



